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# LOTTO szamok generalasa (5 db kiilénbdz6 szam 1-90-ig /otdslotto/)

import random

# 1. megoldés 3k 3k 3k 3k sk 3k >k 3k 3k 3k 3K 3k 3k ok Sk Sk Sk Sk Sk sk sk 3k kK 3k 5k 5k 3k 3k Sk Sk Sk Sk Sk sk sk 3k 3k >k 3k 3k 3k 3k 3k ok 3k Sk Sk sk sk sk k kR ko

print("\n--- 1. megoldds ---")

szamok = []
while len(szamok) < 5:
vel szam=random.randint(1,990)
if szamok.count(vel _szam) ==
szamok.append(vel szam)

print (szamok)
print (sorted(szamok))

# 2. megoldés EEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEEETE]

print("\n--- 2. megoldads ---")
szelveny = set ()

while len(szelveny) < 5:
szelveny.add(random.randint(1,90))

r_szelveny = list(szelveny)
print(r_szelveny)
print(sorted(r_szelveny))

# 3. megoldés sk sk sk sk 3k sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk sk ok sk sk ok sk sk sk sk sk ok sk sk sk sk sk ok ok ok ok
print("\n--- 3. megoldds ---")

szamok = [i for i in range (1,91)]

for i in range(1000):
szam = szamok.pop(random.randint(0,89))
szamok.append(szam)

print(szamok[:5])
print(sorted(szamok[:5]))

# 4. megoldés 3k >k 5k 3k 3k 5k 3k >k 3k >k >k sk >k sk sk K 5k k> ok sk 3k sk 3k 3k sk 3k 3k sk 3k 5k 3k K ok sk >k sk sk >k ok sk 3k ok sk >k sk sk sk sk >k sk kR k k ok

print("\n--- 4. megoldas ---")

szamok = list(range(1,91))
random.shuffle(szamok)
print(szamok[:5])
print(sorted(szamok[:5]))
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